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@l A2SH XNE(ARSHISSLEA) (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
= MEX 2,881,702 2,778,329 103,373
= 329,605 329,605 0
< 82,901 82,901 0
Al 2,469,196 2,365,823 103,373
=2 (MIEX/IZHEEE) 2,613,878 2,613,705 173
= 329,605 329,605 0
< 82,901 82,901 0
Al 2,201,372 2,201,199 173
g=230 XA (Yd=230II=2SE3H) 2,613,878 2,613,705 173
= 329,605 329,605 0
< 82,901 82,901 0
Al 2,201,372 2,201,199 173
ZIHAXHMIAEER (Y220 dEH XH) 2,201,372 2,201,199 173
308 MtXIEHMSOIH 2,201,372 2,201,199 173
07 HXH2ARES 2,201,372 2,201,199 173
O2d=z23d=Hl AHIRE=S 2,201,372,000& 2,201,372 2,201,199 173
RS (FUMSN W) (MASX/IIZHEEH) 267,824 164,624 103,200
BENE(AE2S0HISELSAH) 267,824 164,624 103,200
RSN 267,824 164,624 103,200
802 gHat 3 JIEt 267,824 164,624 103,200
01 I DEX3tE= 83,716 68,853 14,863
O=1Exs gte=s 83,716,000& 83,716 68,853 14,863
02 Al - EHIEXZtEtE= 20,929 17,213 3,716
SHEXZ BE= 20,929,000& 20,929 17,213 3,716
03 JIEtEHEI 2 S 163,179 78,558 84,621
OO0l t==g Bty 3,328,000& 3,328 3,328 0
ORE0IS=s &=+ gy 70,000, 000& 70,000 55,230 14,770
OFUAZHl Bte S 20,000,000& 20,000 20,000 0
OuUEE =g Btd S 69,851,000& 69,851 0 69,851




